X(4th Sm.)-Physics-GAGE/CC-4)/CBCS
(2019-20 & 2018-19 Syllabus)

2022

PHYSICS — GENERAL

~ (Syllabus : 2019-2020 and 2018-2019)
i Paper : GE/CC-4

(Waves and Optics)

Full Marks : 50

XE

AT 518 e @il T2 o ST T 2 @ @ S

I+CT+9

o
it O 0 faeet @ B breveel 31 29 W wited weE

L+8

= (IS Gt a2 Soita gatoie o ware |

Rt (8+3+3)+(3+3)

Please Turn Over



(2)

T

: ® ‘m-mﬁmﬂzﬂﬂmmﬂiummwrﬁvmmwcmmmwﬁﬁmMm
e WMSmmwquaﬁmWﬁwm?

L+3+3

(8+9)+9

TEOTT (AT Afofers St 77y fers (ke 7afes wrzm s | < eifenar 1.309

SIS e Fef e

T IR 4B 1 /R CRITR =W , ¥f e A W 3ro+0
RS

2x5

’fo : article is 3/+ 12x = 0. Find its time period. (fand x are the acceleration
the pa:txcle respectively.)

ound level, which one is more intense?

nces between loudness and intensity of sound.

A, the angle of diffraction through a grating corresponding to first
f lines per cm.

, forced simple harmonic oscillator and solve it. Hence
2+5+3
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t_l}_e,-gxpression of velocity of transverse waves developed in a stretched string.

quency of a sonometer wire is 360 Hz. If the length of the wire is doubled and the tension
reased four times, how will the frequency of the wire change? 6+4

jfpcrpendicular SHM with same time period but with different amplitudes and phases
‘;bu’sly on a particle. Prove that the resultant motion of the particle is in general
Under what conditions will the motion be (i) circular, (ii) straight line?

t of a particle at time ‘7’ is x = a cosor + bsinor. Prove that the motion is simple
.

v

d its amplitude. (4+1+1)+(2+2)
of maximum and minimum intensities produced in the interference pattern
it experiment.

)
experiment, if the distance between the slits be 0.4 cm then find the width
roduced on the screen kept at 5 m distance apart. Wevelength of incident

6+2+42

: tion is observed on a screen which is placed at the focal plane of
ength of 20 cm. Calculate the approximate linear distance between first
%3 (4+3)+3

ce, energy is neither created, nor destroyed, but it is
: 2+2+3+3



